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Kevin recorded the time 11 students spent studying for the Chapler 3 test and the scores they earned. This data is displayed in the scatter
" plot below.
Part A

Which statement below best describes the correlation between minutes spent studying and score earned on the test?
M There is a negative correlation between minutes spent studying and score earned.

LY There is a positive correlation between minutes spent studying and score earned.

reparafion and Performanne

e
¢ There is no correlation between minutes spent studying and score earned.
¢ There is not enough information to determine a correlation between minutes spend studying and score earned.

Part B

Which of the following is the most reasonable equation for the line of best fit for the data in the scatter plot?
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2. The function C(7)=1.90+1.40¢ shows the cost of a hamburger, C, with different numbers of toppings .

a. What does the y-intercept represent? The %wy‘n-l—(rc{ Igr ’(éiprcsafﬁﬁ Y l’}{
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b. What does the slope represent? Eat‘.h 4_0?70 1’/\3 ¢.o 5}’5 % / 4 0

c. If Morgan paid $3.30 for a hamburger, how many toppings were on Morgan’s hamburger?

3. Charles pays a fixed fee plus an hourly rate to rent a boat. The table below shows how much Charles

paid for the boat.
a) Write a linear equation in both point-slope form and slope-intercept form to descn;/lie the amount
paid, 4, for renting the boat £ hours. ) ) Hours Rented | || 2 3 4 3
y-2 + = 12(X- Amount Paid | $27 | S30 | $51 | 563 | 575
y-z#=|2x-1t — N
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b) What is the hourly rate to rent the boat? %12 Zad )"IOLAV
c) What does the y-intercept represent? The S'f‘ar‘h'ﬂ(}) 'P(’ e 1o rent a lOOCL+ N &[?
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Leona’s Job
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4. The graph show the numbers of newspapers delivered and total pay for Leona’s € 3 i J.

newspaper delivery job. Write a linear equation to represent Leona’s total pay, P, 3 2 :

as a function of the number of newspapers delivered, n. = ?: ' t ]
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. Write a linear equation in slope-intercept form to model each situation.

a. You rent a bicycle for $20 plus $2 per hour. q = IX+26
b. An auto repair shop charges $50 plus $25 per hour. % = 2oy +540
c. A candle is 6 inches tall and burns at a rate of % inch per hour. 3\, s 2 X FG

6. The function A(d)=-1.50d+20 shows the amount of money you have in your pocket, 4, after buying d
drinks.

a. What does the y-intercept represent? [ he "r'/ﬂ—{ re a{)‘}' repye sets  the 5{7-'“}-{*17

ameunt  you have in Your ,pockff" ’@ZO
b. What does the slope represent? The S/Oﬂc regrese n%g the cost of eaC]'\
deinle s %50

A=10.50 =
c. If you have Blo s¢ left in your pocket, how many drinks dfinks did you buy? .
10.50= =[50 +20 '
-%50=-l.s0d Zow bought € drinks,
d=6.33

7. Mya works as a commissioned sale rep. She makes a base salary plus a commission for each sale she
makes. The table below shows how much Mya can make.

T=eUaX,)) o b
a) Write a linear equation in both p01 = lope form and slope intercept form to Pescn,}l? the salary, S, for

making n sales. e 2 AV3 4 3
'x'
y —5F 'DC()("I) ( S-250=5Un- b.l i 2
> $350 | $400 | $450

y~-250= s50X~50 na'lary $250 | $300
2 Yz Y =302 =5

/4;_25—0 +250 S—c Y :;&JZ. e s

J = sox +200 - T5a Son H200 X=X, 2
b) What does the slope represent? ___ Y 0. ma’te S éS'D ol er Sal Ci
¢) What does the y-intercept represent? M Yo s stavhn 5) <olar y s %200.

4. You paid $20 to join the program Spotify to listen to music and spend $1 per downloaded. Graph the

cost of using Spotify as a function of the number of downloaded songs. 3
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